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B. Wynne, Misunderstood misunderstanding: social identi-
ties and public uptake of science

In May 1986, following the Chernobyl accident, up-
land areas of Britain suffered heavy but highly variable
deposits of radioactive caesium isotopes, which were
raind out by localised thunderstorms. The effects of
this radioactive fall-out were immediately dismissed
by scientists and political leaders as negligible, but af-
ter six weeks, on 20th June 1986, a ban was suddenly
placed on the movement and slaughter of sheep from

some of these areas, including Cumbria.
(000 4/280 Web OOOODOOOOOOO)
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“Let me recite what history teaches. History teaches.”
— Gertrude Stein
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